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7-Zip 24.09

Adobe Acrobat Pro 24.005.20399

Adobe Acrobat Distiller DC 24.5.20320

Adobe After Effects 2025 25.1

Adobe Audition 2025 25

Adobe Creative Cloud 6.5.0.348 N A

Adobe Dreamweaver 2021 21.4

Adobe lllustrator 2025 29.2.1

Adobe Lightroom Classic 14.1.1

Adobe Photoshop 2025 26.3.0.156

Adobe Premiere Pro 2025 25.1

Anaconda3 2024.10-1

Autodesk AutoCAD 2025 25.0.116.0

BCpad 2.3.1

Borland C++ Compiler 7.3

C/C++ extension pack 1.3.0 Visual Studio Code#i3RHEE
Dropbox 220.4.4126

Eclipse 2021-12(4.22.0)

Eclipse Temurin JDK with Hotspot 21.0.6+7 (x64) 21.0.6.7

Eclipse Temurin JRE with Hotspot 21.0.6+7 (x64) 21.0.6.7

g++ 4:13.2.0-7ubuntul fRF8Ubuntu EIZA > X b—JL
Gaussian 16W Revision C.01

GaussView 6.1

gee 4:13.2.0-7ubuntul fRA8Ubuntu iz A > X b—JL
gedit 46.2-2 fRABUbuntubICA > & F—IL
Ghostscript 10.04.0

GIMP 2.10.38

gnuplot 6.0 patchlevel 2

Google Chrome 133.0.6943.54

IBM SPSS Amos 30.0.0.0 aEY 7T

IBM SPSS Statistics 30.0.0.0 aFEV 7T

JMP Pro 17 aEvy b7

Lhaplus 1.74

MATLAB R2024b aEY 7T T

Maxima 5.47.0

Microsoft Edge

134.0.3124.51

Microsoft Office LTSC Professional Plus 2021 16.0.14332.20839 aEV I T

Microsoft Visual Studio Code 1.96.4 aEY 7T T

Microsoft Visual Studio Professional 2019 16.11.44 aEY 7T T

MinGW 14.2.0-rt_v12-revl

MinGW C 14.2.0

MinGW C++ 14.2.0

Mozilla Firefox 135

MRTG 2.17.10-12 {RA8UbuntutbicA v X b—L
NS-2 2.35+dfsg-5build2 fRABUbuntubICA > R F—IL
NS-3 3.41-1.1build1 {RABUbuntu EICA ¥ X b =L
OpenCV 2.4.13.6

Oracle VirtualBox 7.1.6

Oracle VirtualBox - {&x#8Linux [Ubuntu] 24.04 LTS

R 4.4.2

SafetyAnchor Client(x64) 3.5.0 aEY 7T
SOLIDWORKS 2024 SP05 32.5.0.48

Systemwalker Desktop Restore ¥ X F LY ANY T ZA4 Tk 16.10.11

Tera Term 5.3

Trend Micro Apex OnetzF 274 T—> x> b 14.0.13140 aEY 7T T

VLC media player 3.0.21

Windows Media Player 12.0.19041.5369

Wingnet 24.0.4200 aEvy b7

WinSCP 6.3.6

Xilinx Design Tools Vivado ML Standard 2024.2 2024.2

YOI T4R 2.4.2.6048
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